FTSMA

Owner's Manual

STATIONARY STORAGE
UNIT

Stationary
Storage Unit

\j!‘ Stationary

Storage Unit 1l

CAUTION:

Read and follow all

Safety Rules and Operating
Instructions before first use
of this product.

Sears, Roebuck and Co., Hoffman Estates, IL 60178 USA

Made in the LUS A
FOO7A1

WARNINGS AND CAUTIONS:

DO NOT stand on this product, You may fall which may cause personal injury.
WEAR SAFETY GLASSES AND GLOVES when cutting the banding material. The
bands may snap which may cause personal injury.

BE CAREFUL when opening more than one drawer. The product may become
unstable and tip, which may cause personal injury or product damage.

DO NOT mount this product on a truck bed or any other moving object. This may
cause personal injury or product damage,

DO NOT step in the drawers. You may fall which may cause personal injury,
Appropriately secure this product before moving it with a forklift,

DO MOT alter this product in any manner. For example, do not weld external lockbars
or attach electrical equipment. This may cause product damage or personal injury.
Close the drawers and doors before moving this product. The drawers or doors could
come open and make the product unstable and tip, which may cause personal injury
or product damage.

The maximum weight for each drawer should be no more than 50 pounds.

Weight limit on the top of the workbench is 1,000 pounds. If the limit is exceeded, the
praduct could collapse and cause personal injury or product damage.

PARTS: Refer to Service Parts
STATIOMNARY STORAGE UNIT Drawing for full listing
KEY DESCRIPTION Qary. of Service Parts

A SIDE 2
B CENTER SUPPORT 4
C 9" DRAWER ASSY. 2
D 4" DRAWER ASSY. 9
3 2" DRAWER ASSY. 2
F FRAIL. 6
G SHELF 2
H TOP 1
NOTE: Slides not shown |
STATIONARY STORAGE UNIT Il
KEY DESCRIPTION Qry.
A SIDE 2
B CENTER SUPPORT 2
C 9 DRAWER ASSY. 1
B 4" DRAWER ASSY. 2
E 2" DRAWER ASSY. 2
F RAIL 4
G SHELF 2
H TOP 1
MNOTE: Varies slightly from
picture. Slides and door not
showm.

Call 1-800-366-7278 for
Service Parts




HARDWARE:
{Hardware dependant on model)

© H -20 Hex hut
€ I 14-20 X 12 Sioted Screw

@& (mm v4-20 X 12 Tamper Proof Screw

@ I 1420 X 7B MHex Screw

These instructions pertain to two units,
Most of the steps relate to both units;

however, the specific unit will be called out if

the assembly belongs only to it.

RAIL AND CENTER SUPPORT
ASSEMBLY:

STATIOMARY STORAGE UNIT:

This unit has six rails and four center
supports. Attach the center supports (B) to
the center of the rails (F) using sixteen 1/4-
20 x 7116 hex screws and sixteen 1/4-20
hex nuts. Finger tighten,

A
!
NN

" F
NN
Sloted ™ Sy

bl . Ry

STATIONARY STORAGE UMIT I:
This unit has four rails and two center

supports, Make sure that the slots in the top

rail are on top and the slots in the bottom
rail are down, and that the word “Top” on
the center supports is toward the top.
Attach the center supports (B) to the rails
(F) using two 1/4-20 x 7/16 hex screws and
two 1/4-20 hex nuts per joint, Finger
tighten.

Siotted — 1
Hole N x"”*;« 4

Hole ‘ \b
SIDE ASSENMBLY:

NOTE: Do not insert screws in the top
holes of the side and rail assemblies
until the top is in place.

s Attach the rall and center support
assembly to the side using one 1/4-20 x
7/16 hex screw and one 1/4-20 nut per
corner at the top joints, Attach the bottom
joints with two 1/4-20 x 7/16 hex screws
and nuts. NOTE: For Stationary
Storage Unit attach the middle rails to
each side with two 1/4-20 x 7/16 hex
screws and nuts per joint. Finger
tighten.

« The open areas between the center
supports (B) and sides (A} must
measure 18 172" for proper fit of the
drawers, Square up the frame and

wrench tighten the screws,
F

/ p

R B e YW it
P
o B -
'
e B2 e e 18 10 e
fi

SLIDE ASSEMBLY:

MOTE: These units are designed so that
the drawers and shelves may be
positioned to suit your needs. During
installation of the slides, start at either
the top or the bottom of the unit and
work toward the other end.

« Place the rear of the outside slide at the
rear of the unit, line up the holes and
attach the slide with two 1/4-20 x 7/16
hex screws and two 1/2-20 hex nuts,
Finger tighten. Attach the remaining
slides leaving a gap between them
according to the drawer size.

= Before installing the inside slide, lubricate
the top and bottom channels of the
outside slide.

« Guide the inside slide into the channel at
the front end of the cutside slide. Firmly
push the inside slide past the slide stop
an the outside slide. Repeat this step for
the remaining slides.

TOP ASSEMBLY:

« Place the top (H) on the rail and side
assembly, line up the four holes and
attach the top using four 1/4-20 x 7/16
hex screws and 1/4-20 hex nuts.

= Wrench tighten all screws and nuts.
= Move the unit to a permanent location,

DRAWER INSTALLATION:

« Before installing the drawers, lubricate
the top and bottom channels of the
drawer slides,

+ Install the drawer by inserting the drawer
slides into the installed slide assemblies,
Make sure that the slides on both sides
line up. Push the drawer until it is fully
closed. The drawer is now securely in
place, Repeat the procedure for the
remaining drawers.

MNOTE: Door, lock, and door catch
assemblies are for Stationary Storage
Unit |l only.

DOOR ASSEMBLY:

NOTE: The door may be mounted on

either side of the unit. CAUTION: Once

the door hinge screws are tightened

they cannot be removed with a

screwdriver,

« The door catch, lock, and mounting
hardware is in a separate bag.

= Remove the knockouts from the front
end panel on the side that the door is to
be hung.

 Position the door on the side of the work
bench opening selected and line up the
holes on the hinge and the bench front,




= Attach the door with two 1/4-20 tamper SHELF ASSENMBLY;

proof screws and two 1/4-20 hex nuts, « Find a desired location for the shelf, line up
Finger tighter. Do not wrench tighten the four holes in the shelf with the holes in
unti] the door lock is adjusted to the door the side and center support. Attach the
catch, shelf using four 1/4-20 x 7/16 hex screws
and four 1/4-20 hex nuts. Wrench tighten.
LOCK ASSEMBLY: Repeat the procedure with the other shelf

= Insert the lock assembly (keeping the
locking cam vertical) into the rectangular
hole on the door.

+ Position the retaining clip in the slots of
the lock on the inside of the door.

+ Strike the flat edge of the clip with a
mallet to seat.

DRAWERS:
s Fully extend the drawer. Then push it back
a fraction of an inch,
= Insert a screwdriver into the slot in the slide
and depress the stop untll it clears the lance.
Repeat the procedure for the cther dlide.
Remove the drawer, INTENTIONALLY LEFT BLANK

= To remove the lock use a screwdriver to
drive out the retaining clip.

DOOR CATCH ASSEMBLY:

= Mount the door catch opposite the door
hinge in the upper hole with one 1/4-20
round head machine screw and one 1/4-

20 hex nut. = To reinstall the drawer, pry the stop far
« Square up the door and the catch, enough out to engage the lance (316" to
Wrench tighten all of the screws. 14"y and push the drawer onto the slides

until the stops pass over the lances.

» An auto wax will preserve the storage unit's
high luster finish. Apply the wax as fo a car,
The wax will help protect the unit against
scratches,

« Lubricate slides twice yearly.

« Grease and oil can be removed with most

standard cleaning fluids. For safety, use a

nen flammable cearing fluid,




